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(x —3)* =81 Each of the three data sets represented by the three

What is the sum of the solutions to the given dot plots has 15 values.

equation? ) (X
2 e 9 e 2 8
A0 _ssesee o sesss
B) 6 12345678910 123456780910
G 9 Data set A Data set B
D) 12 :
2 B
e @ 6
e D e B
eoo0o0 0 °
-
12345678910
Data set C

The medians of data sets A, B, and C are a, b, and ¢,
respectively. What is the relationship between a, b,
and ¢ ?

A) a>b>c

B) b>a>c

C) ¢c>b>a

D) a=b=c
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DIRECTIONS

For questions 31-38, solve the problem and A L7 . .
) ) ) nswer: —_ are: Answer: 2.5
enter your answer in the grid, as described 12
below, on the answer sheet. Write
mswern— |71/(1]2 A 2.5
. @ eF'ractlon CD(D
1. Although not required, it is suggested that oo line OO @O «Decimal
you write your answer in the boxes at the top @O©® @O® pomnt
of the columns to help you fill in the bubbles 00 ©) 000©)
accurately. You will receive credit only if the 06 ) O |[Oe)
bubbles are filled in correctly. Gidin | OO 0606O)
2. Mark no more than one bubble in any column. result. @O®OI® @OOGO®
3. No question has a negative answer. OO Oe/e] J
4. Some problems may have more than one ®OO®O®® ®OO®®O®
correct answer. In such cases, grid only one ®ODOD DODD
anwer
' 1 L OO0 ® © OO ©)
5. Mixed numbers such as 3— must be gridded
as3.50r7/2. (If is entered into the Acceptable ways to grid % are:
grid, it will be interpreted as ﬂ, not 31.) 211 éj . |0|6|6 6|6|7
2 e oe® @}
6. Decimal answers: If you obtain a decimal | : -
- A . 00 @) SO0 @O0
answer with more digits than the grid can
accommodate, it may be either rounded or OOO® OOO® ©OO®
truncated, but it must fill the entire grid. DOODMD DOODD DOODD
O e e) QOO QOO
OO J 66O ©) 66O )
@O®O® @OO® @OO®
A 906 6) 9060 6)
OO®® o I L J O0e®
OODD OODOD OOD®
Answer: 201 - either position is correct
201 [2/011]
oD Do Mo
You may start your
QQQQ QQ@Q answers in any column,
@ . @ . @ @ space permitting.
0O | 0O (O] Columns you don't
@) &)e>) @ O|D|@  needto useshould be
A s left blank.
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The side length of square ABCD is twice the side
length of square EFGH. If the area of square EFGH
is 9, what is the area of square ABCD ?
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The scatterplot shows 11 data points, along with a

line of best fit for the data. For how many of the data
points does the line of best fit predict a y-value that is

less than the actual y-value?
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—X=cx+2
4

In the given equation, c is a constant. The equation
has no solution. What is the value of ¢ ?

34

What number is 1% greater than 7000 ?

54 "CONTINUE 3
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Questions 35 and 36 refer to the following
information.

Percentage of Components in a Liquid Mixture,
by Volume

Component A 10.0%
Component B 25.0%
Component C 20.0%
Component D 45.0%

A liquid mixture is composed of four components, and
the table shows the percentage, by volume, of each
component. The volume of each component prior to
mixing is the same as the volume of that component in
the mixture. A procedure can be used to extract the
individual components that were combined to form the
liquid mixture. When the procedure is applied to extract
the components in the mixture, a portion of the volume
of the components may be lost.

35

If the volume of component B in the liquid mixture
is 1.00 milliliter, what is the total volume, in
milliliters, of the liquid mixture?
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4

The procedure was applied to a new sample of
9.00 milliliters of the liquid mixture to extract
component C. Due to the loss of volume from the
procedure, the extracted volume of component C
was only 90.0% of the original volume of this
component. What was the extracted volume of
component C, in milliliters?
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f(x) = x>+ bx x feet x feet
g(x) =3x"—9x xfeeti
The functions f and g are defined above, where b is :

aconstant. If f(x)- g(x) = 3x*— 8x° = 3x?, what is
the value of b ?

Ix feet
Note: Figure not drawn to scale.

The rectangular mirror shown above has width 3 feet
and length 5 feet and is surrounded by a mosaic
border with a width of x feet. If the area of the
mirror with the border is 35 square feet, what is the
width x, in feet, of the border?

STOP

If you finish before time is called, you may check your work on this section only.
Do not turn to any other section.
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Reading Test Answers Writing and Language Test Answers
1 A 12 C 23 A 34 C 45 D 1D 12 D 23 C 34
2 C 13 A 24 C 35 A 46 D 2B 13 C 24 D 35
3B 14 B 25 '8 36 B 47 C 3 A 14 A 25 D 36
4 D 15 A 26 A 37 B 48 A 4 C 15 D 26 A 37
5 A 16 D 27 D 38 D 49 B 5 C 16 C 27 A 38
68 17 C C e 6 D 17 B 28 B 39
1D 18 B D A 7 B 18 D 2910 40
8 C 19 D C B 8 C 19 A 80 C 41
9B 20 A D 8 C B 31.B 42
10 D 21 D B 10 B D 32 A 43
11 B 22 A D 1 A c 38 B 44

]

READINGTEST

RAW SCORE
(NUMBER OF
CORRECT ANSWERS)

WRITING AND
NGUAGETEST

RAW SCORE
(NUMBER OF
ORRECT ANSWERS)

Math Test — No Calculator Math Test — Calculato

Answers Answers
1B " 1A D 21 C
2 C 12 2.B A 22 B
3 € 13 3 ) C 28 €
4 C 14 4 € A 24 D
5 A 15 5 B & 25 B 35 4
6 C 16 6 € A 26 € 36 167
7D 17 7D A 27 A 37 1/3,.333
8D 18 9 80 18 A 28 B 38 1
9B 19 6 9D 19 C 29 B
10 C 20 4 10 B 20 B 30 D
MATHTEST - MATHTEST -
NO CALCULATOR CALCULATOR
RAW SCORE RAW SCORE
(NUMBER OF (NUMBER OF
CORRECT ANSWERS) CORRECT ANSWERS)
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Errors Reading Writing Math

1 40 40 790
2 39 39 770
3 38 38 760
4 37 36 740
5 36 35 720
X 35 35 710
7 35 34 690
8 34 33 680
9 33 32 680
10 33 32

11

42: |3 . 650
a3k | 31

a4 . . 630
a5 |« . 620
16

17 29

20 27

-2 . 25



